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QUESTION 1

A VM on the Vblock System 320 is unable to communicate on the customer network. When examining the virtual
machine, you notce it has the same port group as the other VMs on the same ESXi server. Which acton must you
perform to resolve the problem? 

A. You must reboot the VM. 

B. You must restart the network agents on the ESX server. 

C. You must verify that the VM\\'s network adapter is connected. 

D. You must install the Nexus 1000V agent on the virtual machine. 

Correct Answer: C 

 

QUESTION 2

While reviewing the Vblock System 320 confguraton, you verify the physical NIC mode is confgured for 

failover for a teamed vSwitch. 

Which mode would be used to confgure the NICs? 

A. actve 

B. passive 

C. promiscuous 

D. unused 

Correct Answer: A 

 

QUESTION 3

Actve Directory (AD) is integrated on host ESXi01. You want to give some users an administrator role. To which group
should the users be added? 

A. the ESX Admins group 

B. the Server Admin Actve Directory group 

C. the ESX group 

D. the Admins group 

Correct Answer: A 
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QUESTION 4

A customer has recently acquired some new Cisco UCS B440 M3 blades to install in their existng Vblock 

System. You are asked to add these new blades to the existng vSphere cluster and to ensure full 

compatbility with the existng environment. 

Which acton must you perform? 

A. Enable EVC mode with a feature set of the existng CPU level to ensure compatbility with the new blades. 

B. Enable EVC mode with a feature set of the newer CPU level to ensure compatbility with the existng blades. 

C. Disable VMware HA prior to adding the new blades to the cluster. 

D. Modify the limit CPUID value advanced setng on the existng blades to ensure compatbility with the new blades. 

Correct Answer: A 

 

QUESTION 5

Which operatng system requires additonal binaries to apply virtual machine customizaton 

A. Microsof Windows 2008 

B. Microsof Windows 7 

C. Microsof Windows 2003 

D. Red Hat Linux 

Correct Answer: C 
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